
CH3

CH3

Equilibrium favors groups in the equatorial 
position to eliminate 1,3-diaxial interactions 
which are destabilizing
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Bigger groups prefer to be equatorial. 
t-Butyl group effectively locks the ring 
into one conformation.
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unfavorable high-energy interaction  

For each regioisomer (1,2-, 1,3- and 1,4-dimethylcyclohexane), draw the ring flip for 

both cis and trans and determine which stereoisomer (cis or trans) is the more stable. 
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Which stereoisomer 
has lower energy,
cis- or trans-1,2-
dimethylcyclohexane?
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Which stereoisomer 
has lower energy,
cis- or trans-1,3-
dimethylcyclohexane?
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Which stereoisomer 
has lower energy,
cis- or trans-1,4-
dimethylcyclohexane?

 

 

 


